DA EERTER SEREBHERS

S g | e s %%% | B8 h2
BERZEFEEDRTE 2R 3,500(2,000: 1,500 8 18
BERZEFEEDRTE E2 2,500(1,000: 1,500 31 24
BERZEFEEDRTE 3k 2,500(1,000: 1,500 30 21
R REERTE EAR] 5500(3,000: 2,500 O 1
R REERTE 2R 4,800(2,000: 2,800 3 4
AR REERTE 2] 4,000(2,000: 2,000 13 1
R REERTE 3k 3,500(2,000: 1,500 18 2
RRAEEREERTE 2R 6,400(3,000: 3,400 2
RRAEEREERTE 2] 5,700(3,000: 2,700 9 4
AT 34 |RamEsoRImCEERLERA 3 >
ISERWIBIEEIRTE RETE 1#R 2,700(1,000: 1,700 1 1
BRVBREERTE R5TE E1#k| 2,500[1,000: 1,500 2 1
ERLERESTE ReE | 2% | 2.300]1,000 1,300 s 5
ERLEREEE RetE  2om| 2100{1,000 1,100 6 0
IBERNIBIREERRTE RETE 3k 1,900( 1,000 900 6 4
BARBO—JOERE 1%% | 2,700[1,000: 1,700 1 2
BARBO—JOERE AR 2,500(1,000: 1,500 5 3
BARBO—JOERE 2% | 2,300(1,000: 1,300 7 13
BARBO—JOERE 2 2,100(1,000: 1,100 20 17
BARBD —JOERE 3R 1,900] 1,000 900 19 26
BARBD —JOERE 44K 1,200] 1,000 200 1 1
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